
 

 

201. Which of the following is a multi processing system?  

A. Mvs 

B. Unix 

C. Os/2 

D. All of the above 

  



 

 

201. Which of the following is a multi processing system?  

A. Mvs 

B. Unix 

C. Os/2 

D. All of the above 

Answer:D 

  



 

 

202. Which of the following operatiing system allows multi tasking?  

A. Os/2 

B. Windows 

C. Amiga 

D. All of the above 

  



 

 

202. Which of the following operatiing system allows multi tasking?  

A. Os/2 

B. Windows 

C. Amiga 

D. All of the above 

Answer:D 

  



 

 

203. Which of the following is not a real time operasting system?  

A. Blmx 

B. Ccp 

C. Ctos 

D. Dos 

  



 

 

203. Which of the following is not a real time operasting system?  

A. Blmx 

B. Ccp 

C. Ctos 

D. Dos 

Answer:D 

  



 

 

204. _______is a program informing a program an event has occured  

A. Virus 

B. Compiler 

C. Interrupt 

D. None of the above 

  



 

 

204. _______is a program informing a program an event has occured  

A. Virus 

B. Compiler 

C. Interrupt 

D. None of the above 

Answer:C 

  



 

 

205. Pcs support _____ types of software interrupts  

A. 128 

B. 256 

C. 32 

D. None ofthe above 

  



 

 

205. Pcs support _____ types of software interrupts  

A. 128 

B. 256 

C. 32 

D. None ofthe above 

Answer:B 

  



 

 

206. Which of the following is an example of system software?  

A. Word processors 

B. Spread sheets 

C. Games 

D. None of the above 

  



 

 

206. Which of the following is an example of system software?  

A. Word processors 

B. Spread sheets 

C. Games 

D. None of the above 

Answer:D 

  



 

 

207. Which spread sheet package was later sold to lotusdevelopment Corp.?  

A. Corel quattro pro 

B. Open office calc 

C. Visicalc 

D. All of the above 

  



 

 

207. Which spread sheet package was later sold to lotusdevelopment Corp.?  

A. Corel quattro pro 

B. Open office calc 

C. Visicalc 

D. All of the above 

Answer:C 

  



 

 

208. Which one of the following is a characteristics of a spreadsheet application?  

A. Data forms 

B. Presentation 

C. Data retrieval 

D. All of the above 

  



 

 

208. Which one of the following is a characteristics of a spreadsheet application?  

A. Data forms 

B. Presentation 

C. Data retrieval 

D. All of the above 

Answer:D 

  



 

 

209. ____ includes the operating system and all the utilities that enable the 

Computer to function  

A. Application software 

B. Presentation software 

C. System software 

D. None of the above 

  



 

 

209. ____ includes the operating system and all the utilities that enable the 

Computer to function  

A. Application software 

B. Presentation software 

C. System software 

D. None of the above 

Answer:C 

  



 

 

210. .world wide web is made of documents created with language called  

A. Html 

B. Url 

C. Httl 

D. Htrl 

  



 

 

210. .world wide web is made of documents created with language called  

A. Html 

B. Url 

C. Httl 

D. Htrl 

Answer:A 

  



 

 

211. To access and display documkents on the web you must have a communication 

Standard called  

A. Http 

B. Url 

C. Dns 

D. Html 

  



 

 

211. To access and display documkents on the web you must have a communication 

Standard called  

A. Http 

B. Url 

C. Dns 

D. Html 

Answer:D 

  



 

 

212. The standard that allows you to enter the name and location of 

Informationand the method for transporting the information over the internet  

A. Http 

B. Url 

C. Dns 

D. Html 

  



 

 

212. The standard that allows you to enter the name and location of 

Informationand the method for transporting the information over the internet  

A. Http 

B. Url 

C. Dns 

D. Html 

Answer:B 

  



 

 

213. As you scroll through a webpageit is likely you will see some underlined text or 

Text in different colour. These represent  

A. Bookmark 

B. Hypertext links 

C. Ftp 

D. Graphic images 

  



 

 

213. As you scroll through a webpageit is likely you will see some underlined text or 

Text in different colour. These represent  

A. Bookmark 

B. Hypertext links 

C. Ftp 

D. Graphic images 

Answer:B 

  



 

 

214. The major categories for toplevel domain are  

A. Com 

B. Edu 

C. Gov 

D. All of the above 

  



 

 

214. The major categories for toplevel domain are  

A. Com 

B. Edu 

C. Gov 

D. All of the above 

Answer:D 

  



 

 

215. What defines the different aspects of web page including heading levels, bold 

Italics, images, paragraph  

A. Html 

B. Httl 

C. Htrl 

D. Htpl 

  



 

 

215. What defines the different aspects of web page including heading levels, bold 

Italics, images, paragraph  

A. Html 

B. Httl 

C. Htrl 

D. Htpl 

Answer:A 

  



 

 

216. The process of visiting websites on ikternethosted by various companies, 

Organisations etc is called  

A. Navigation 

B. Browsing 

C. Patrolling 

D. None of the above 

  



 

 

216. The process of visiting websites on ikternethosted by various companies, 

Organisations etc is called  

A. Navigation 

B. Browsing 

C. Patrolling 

D. None of the above 

Answer:B 

  



 

 

217. Which of the following is a search engine?  

A. Alta vista 

B. Excite 

C. Lycos 

D. All of the above 

  



 

 

217. Which of the following is a search engine?  

A. Alta vista 

B. Excite 

C. Lycos 

D. All of the above 

Answer:A 

  



 

 

218. Which is the tool that provides a single interface that enables users to search 

Many different searc engines, indexes, databases simultaneously?  

A. Web index 

B. Search engines 

C. Meta search engines 

D. None of the above 

  



 

 

218. Which is the tool that provides a single interface that enables users to search 

Many different searc engines, indexes, databases simultaneously?  

A. Web index 

B. Search engines 

C. Meta search engines 

D. None of the above 

Answer:B 

  



 

 

219. One way of protecting the email message is  

A. Caching 

B. Encryption 

C. Mirroring 

D. Shadowing 

  



 

 

219. One way of protecting the email message is  

A. Caching 

B. Encryption 

C. Mirroring 

D. Shadowing 

Answer:B 

  



 

 

220. The feature of an email program which allows you to storethe information 

About the people with whom you correspond is?  

A. Index 

B. Folders 

C. Address book 

D. None of the above 

  



 

 

220. The feature of an email program which allows you to storethe information 

About the people with whom you correspond is?  

A. Index 

B. Folders 

C. Address book 

D. None of the above 

Answer:C 

  



 

 

221. The default priority of an e-mail message is  

A. High 

B. Low 

C. Normal 

D. None 

  



 

 

221. The default priority of an e-mail message is  

A. High 

B. Low 

C. Normal 

D. None 

Answer:C 

  



 

 

222. Which of the following is a telecommunication processor  

A. Modem 

B. Multiplexer 

C. Concentrator 

D. All of the above 

  



 

 

222. Which of the following is a telecommunication processor  

A. Modem 

B. Multiplexer 

C. Concentrator 

D. All of the above 

Answer:D 

  



 

 

223. Which of the following is a function a telecommunication software  

A. Modulation 

B. Demodulation 

C. Access control 

D. All of the above 

  



 

 

223. Which of the following is a function a telecommunication software  

A. Modulation 

B. Demodulation 

C. Access control 

D. All of the above 

Answer:C 

  



 

 

224. WAN stands for  

A. Wire and network 

B. Wire accessible network 

C. Widely accessible network 

D. Wide area network 

  



 

 

224. WAN stands for  

A. Wire and network 

B. Wire accessible network 

C. Widely accessible network 

D. Wide area network 

Answer:D 

  



 

 

225. LSI stans for  

A. Light senitive instrument 

B. Large scale integration 

C. Logical sample integration 

D. None of the above 

  



 

 

225. LSI stans for  

A. Light senitive instrument 

B. Large scale integration 

C. Logical sample integration 

D. None of the above 

Answer:B 

  



 

 

226. The first general purpose computer was  

A. Mark1 

B. Eniac 

C. Ibn 132 

D. Apple ii 

  



 

 

226. The first general purpose computer was  

A. Mark1 

B. Eniac 

C. Ibn 132 

D. Apple ii 

Answer:B 

  



 

 

227. The two types of RAM are  

A. Volatile and non-volatile 

B. Erasable and programmable 

C. Static and dynamic 

D. None of the above 

  



 

 

227. The two types of RAM are  

A. Volatile and non-volatile 

B. Erasable and programmable 

C. Static and dynamic 

D. None of the above 

Answer:C 

  



 

 

228. Which of the followinbg loses its contents when the computer is turned off?  

A. Ram 

B. Rom 

C. Prom 

D. None of the above 

  



 

 

228. Which of the followinbg loses its contents when the computer is turned off?  

A. Ram 

B. Rom 

C. Prom 

D. None of the above 

Answer:A 

  



 

 

229. Which is the memoery chip that is programmed during the manufacturing 

Process  

A. Rom 

B. Ram 

C. Prom 

D. Eeprom 

  



 

 

229. Which is the memoery chip that is programmed during the manufacturing 

Process  

A. Rom 

B. Ram 

C. Prom 

D. Eeprom 

 

Answer:A  



 

 

 

230. The two types of auwillary storage devices are  

A. Random and sequential access 

B. Mdia and midi 

C. Vga and svga 

D. None of the above 

  



 

 

230. The two types of auwillary storage devices are  

A. Random and sequential access 

B. Mdia and midi 

C. Vga and svga 

D. None of the above 

Answer:A 

  



 

 

231. Which of the following is a sequential access drive?  

A. Hard disk 

B. Floppy disk 

C. Magnetic tape 

D. All of the above 

  



 

 

231. Which of the following is a sequential access drive?  

A. Hard disk 

B. Floppy disk 

C. Magnetic tape 

D. All of the above 

Answer:C 

  



 

 

232. WORM stands for  

A. Write -on- reusable media 

B. Write once read many 

C. Write on random media 

D. None of the above 

  



 

 

232. WORM stands for  

A. Write -on- reusable media 

B. Write once read many 

C. Write on random media 

D. None of the above 

Answer:B 

  



 

 

233. Which of thefollowing is the slowest in accessing data?  

A. Zip disk 

B. Hard disk 

C. Magnetic tape 

D. Floppy disk 

  



 

 

233. Which of thefollowing is the slowest in accessing data?  

A. Zip disk 

B. Hard disk 

C. Magnetic tape 

D. Floppy disk 

Answer:C 

  



 

 

234. Which is the reusable optical disk?  

A. Cd-rom 

B. Cd-r 

C. Worm 

D. Cd-rw 

  



 

 

234. Which is the reusable optical disk?  

A. Cd-rom 

B. Cd-r 

C. Worm 

D. Cd-rw 

Answer: D 

  



 

 

235. Which of the following is not an sequential-access device?  

A. Cd-rom 

B. Dat 

C. 8-mm helical scan 

D. Magnetic tape 

  



 

 

235. Which of the following is not an sequential-access device?  

A. Cd-rom 

B. Dat 

C. 8-mm helical scan 

D. Magnetic tape 

Answer:A 

  



 

 

236. The mouse which needs a special mouse pad is  

A. Mechanical 

B. Optical 

C. Optomechanical 

D. None of the above 

  



 

 

236. The mouse which needs a special mouse pad is  

A. Mechanical 

B. Optical 

C. Optomechanical 

D. None of the above 

Answer:B 

  



 

 

237. Which is the technology that is used as a direct entry method in banks?  

A. Ocr 

B. Omr 

C. Micr 

D. Mcr 

  



 

 

237. Which is the technology that is used as a direct entry method in banks?  

A. Ocr 

B. Omr 

C. Micr 

D. Mcr 

Answer:C 

  



 

 

238. Which is the technology used in the evaluation of aptitude test  

A. Ocr 

B. Omr 

C. Micr 

D. Mcr 

  



 

 

238. Which is the technology used in the evaluation of aptitude test  

A. Ocr 

B. Omr 

C. Micr 

D. Mcr 

Answer:B 

  



 

 

239. An input device used widely on supermatkets  

A. Keyboard 

B. Mouse 

C. Trackball 

D. Bar code reader 

  



 

 

239. An input device used widely on supermatkets  

A. Keyboard 

B. Mouse 

C. Trackball 

D. Bar code reader 

Answer: D 

  



 

 

240. Touch sensitive pad used as a pointing devicein poratbl computers?  

A. Touch pad 

B. Mouse pad 

C. Touch screen 

D. None of the above 

  



 

 

240. Touch sensitive pad used as a pointing devicein poratbl computers?  

A. Touch pad 

B. Mouse pad 

C. Touch screen 

D. None of the above 

Answer:A 

  



 

 

241. Display technique that enables a monitor to provide more resolution 

Inexpensively  

A. Tuning 

B. Refreshing 

C. Interlacing 

D. None of the above 

  



 

 

241. Display technique that enables a monitor to provide more resolution 

Inexpensively  

A. Tuning 

B. Refreshing 

C. Interlacing 

D. None of the above 

Answer:C 

  



 

 

242. _____ is a program created in human-readable format  

A. Source code 

B. Object code 

C. Binary code 

D. None of the above 

  



 

 

242. _____ is a program created in human-readable format  

A. Source code 

B. Object code 

C. Binary code 

D. None of the above 

Answer:A 

  



 

 

243. Which of the following is a basic feature of a word processor?  

A. Insert text 

B. Print 

C. Wordwrap 

D. All of the above 

  



 

 

243. Which of the following is a basic feature of a word processor?  

A. Insert text 

B. Print 

C. Wordwrap 

D. All of the above 

Answer:D 

  



 

 

244. Which of the following is an advanced feature of word processor  

A. Font specification 

B. Search and replace 

C. Print 

D. None of the above 

  



 

 

244. Which of the following is an advanced feature of word processor  

A. Font specification 

B. Search and replace 

C. Print 

D. None of the above 

Answer : A 

  



 

 

245. Which of the following is represented by a series of 1s and 0s?  

A. Machine level language 

B. High level language 

C. Assembly language 

D. None of the above 

  



 

 

245. Which of the following is represented by a series of 1s and 0s?  

A. Machine level language 

B. High level language 

C. Assembly language 

D. None of the above 

Answer:A 

  



 

 

246. Text based browser  

A. Internet explorer 

B. Safari 

C. Lynx 

D. None of the above 

  



 

 

246. Text based browser  

A. Internet explorer 

B. Safari 

C. Lynx 

D. None of the above 

Answer:C 

  



 

 

247. Www is the brain child of  

A. Tim berners lee 

B. Remington rand 

C. Jack kilby 

D. None of the above 

  



 

 

247. Www is the brain child of  

A. Tim berners lee 

B. Remington rand 

C. Jack kilby 

D. None of the above 

Answer:A 

  



 

 

248. Requirements of dial up connection  

A. Modem 

B. Telephone connection 

C. Account with internet access provider 

D. All of the above 

  



 

 

248. Requirements of dial up connection  

A. Modem 

B. Telephone connection 

C. Account with internet access provider 

D. All of the above 

Answer:D 

  



 

 

249. Equipment that allows single phone connection for both adsl and voice calls  

A. Splitter 

B. Modem 

C. Multiplexer 

D. None of the above 

  



 

 

249. Equipment that allows single phone connection for both adsl and voice calls  

A. Splitter 

B. Modem 

C. Multiplexer 

D. None of the above 

 

Answer a 

  



 

 

250. Which one of the following is not a internet protocol?  

A. Tcp/ip 

B. Ftp 

C. Gopher 

D. Isp 

  



 

 

250. Which one of the following is not a internet protocol?  

A. Tcp/ip 

B. Ftp 

C. Gopher 

D. Isp 

Answer:D 


